G-

4-lesson 29

Solve using quick tens and ones, number bands, or the arrow way.

1. 24+16= 40

1 solved using the arrow way because [ know
16is 10 and 6. | can add the 10 to 24 first
to get 34. 1 know that 34 and 6 15 40.

IR LU
24— 34 — 40
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| solved using a number bond. |
added 17 and 10 and got 27. Then |
added 27 and 2 to get my answer of
29, I didn"t need to write the

. number sentences because { can do
the math in iy head.

. 17+12=_329
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| didn’t sclve any using drawings this
Hirie, Using the arrow way and
number bonds is more efficient for
me now. If | get stuck | can always
use a quick ten drawing.

44 Lesson 29: Add a pair of two-digit numbets with varied stins in'the ones.
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